714 A x|

=
QA EBK|/ QA B

QI HA - QIA ZEO} QIEA ERK

—

EH 22110.

re

20|20l AHE. O}2E 25 22110.0412 2+ 22110.0416

ME o Be e
- AEL EAXE -
E
The thread is matched to the mounting blocks
for index bolts and index plungers, die-cast
(EH 22110.) and mounting blocks for index
bolts and index plungers (EH 22120.).
FItME
- OI2E 5, Clol- A E, QIHA ZX{Q}
oA ZE 8
- Dl2Y 85, oA gE0 QlHA ZAK
=3
=L
12
FE2 3e
x| AEEE ws & [ 1
d, d, d; 14 1, I3 |y
+0,1 0,3 2|4 -0,3
[mm] [mm] [mm] [°C] [a]
M12x1,5 4,2 12,1 9 10 13 4 13 250 10,0 22110.0454
M12x1,5 52 12,1 9 10 13 5 13 250 9,6 22110.0455
M12x1,5 6,2 12,1 9 10 13 6 13 250 8,5 22110.0456
M16 x 1,5 8,2 16,1 1 12 15 8 17 250 18,0 22110.0458
M16 x 1,5 10,2 16,1 11 12 15 10 17 250 14,0 22110.0460
M16 x 1,5 12,2 16,1 1 12 15 12 17 250 9,1 22110.0462
tNHALDER Ho|x| 1~2| 2
7HAl: 10.8.2024


http://halder.com/kr/22110.0454
http://halder.com/kr/22110.0455
http://halder.com/kr/22110.0456
http://halder.com/kr/22110.0458
http://halder.com/kr/22110.0460
http://halder.com/kr/22110.0462

HE o

A-A
uh NANANN

o
i
<
0%
<+
wl
L
o H T o 0
© wWg w T s
o Mgy dog
[{e] A
2 onx T N @
e =5 = B
© > ﬂ’a__._ n 0 2]
) ”;I\w_ © H uu g
K4 T T = £ ol
a1 m_m S ae
T YR W BTo o
C%0 ol im
Wl O el gy W= ™
M__.H Mﬁ Mooz H izl K w ol
KO T 20 2730 8 =
(e} - MT o_n_ .m- K
B 2o Su v NonE »

HO|x|2~2] 2
JHAl: 10.8.2024

EVIC IS

NHALDER




